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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) odignefi gawem o7u T97 U W AME AfHarEa: o]

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) uft U g e e 2
All the questions are compulsory.
3) Yk WA T I & TS S-Yferem § § for)

Write the answer to each question in the given answer-book only.

S—08—Social Science 1204 [ Turn Over

YA UF Tl WieH & e @t we

TEAR HERE TO OPEN THE QUESTION PAPER

T | ey

I



4

S)

6)

7)

8)

2
3 ugat | sraftes @z §, 37 9 & W vk Ty § ford|

For questions having more than one part, the answers to those parts are to be
written together in continuity.

9 U % e 9 3Tt T @ foRedt weew Rt gt / o / ferienwme g1 w R e
% U9 Rl T UH|

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

T 1 I e | ga 99 1 T 91avd ford |

Write down the serial number of the question before attempting it.
YA T 23 WS FE | el g SR 4 376 & 2

Question No. 23 is related to map-work carrying 4 marks.

Ty wE 21 @ 23 9% ° e fahed g

There are internal choices in Question Nos. 21 to 23.
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g - A
SECTION - A

agfarehedt I :

Multiple Choice Questions :

1) = e & s ad faeen T R S gftae # faRau)

Select the correct answer of following questions and write in the answer book.

i)  ACTATETE JRT TS Hel g AT? [1]
) 93, 1919 T) 103w, 1919
w) 13 3ma, 1919 3) 193m=, 1919
When did the Jallianwala Bagh massacre take place?
A) 9April, 1919 B) 10April, 1919
C) 13 April, 1919 D) 19April, 1919
i) T R Y F— T T § s R e (1]
1) uem ) g
T) g g) 3 A G T
In which round table conference did Mahatma Gandhi participate?
A) First B) Second
C) Third D) None of these
iii) wftrg siew gg@ T T fhE am H 2 [1]
H) e q)  FEve
|) 3. enhE q) W
In which country is the famous place Bretton Woods?
A) America B) England
C) South Africa D) China
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iv) T ¥ @ R8T T T I U Tdieh Shel TE1? [1]
H) A q) HAH
w) WM 3) S
Which of the following has been called the first symbol of a new era?
A) Wool B) Cotton
C) Sik D) Jute
V) UeHd g yeaa fftia amm & wed 991 Scieeh 39 ShiA-H 27 [1]
) WA q) ARH
H) == 3) s
Which country is the largest producer of raw jute and jute goods?
A) India B) Bangladesh
C) China D) SriLanka
vi) fora 3w § w t deam Tt TEl H B9 W amate wWen e @2 [1]
) e ) WRa
¥) afcwEm q) frem

In which country ‘Community Government’ appears when power is shared
among social groups?

A) SriLanka B) India
C) Belgium D) Britain
vii) U foremem S rfireERl v srel o uet ® St 9 YEw i SRie /et 8, 98 2 - [1]
HA) TEERER q) TAHaEE
|) e ) wicar
An idealogy which believes in equal rights and opportunities for women and
men, is -
A) Communalist B) Feminist
C) Dictatorship D) Castiest
vii) T urél SreEd’ i weree foRd 2m A @ e [1]
H) sficrent q) AU
¥) WRd 3) R
‘Seven Party Alliance’ is associated with which country?
A) SriLanka B) Nepal
C) India D) Pakistan
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iX) oeR # 3uh & fore Femi ik fafeamt f sravaerar 2t 2 - [1]
H) U N FEN W o q)  IuHH % 0T % ferg
¥) IUHIH o TR o ferg g) SUHIH % I TaER o foru
The market requires rules and regulations for the consumer -
A) For consumer’s protection B) For consumer’s exploitation
C) For consumer’s attraction D) Forconsumer’s unfair behaviour
x) e i s g i e S R - (1]
) ok HTH o d) W Sk AT S
T) fiord S a1t gfoean 3) gHEa S AT gfosan
Currency notes are issued in India by -
A) Bank of India B) State Bank of India
C) Reserve Bank of India D) Union Bank of India
Xi) SHHA-T1 T T ARG H A @ik Hgwqul &g I 32 87 [1]
) Tl R W W)  TegfiEm e
) qmEn e g) e WeH
Which smelting industry is the second most important metallurgical industry
in India?
A) Iron ore smelting B) Aluminium smelting
C) Copper smelting D) Lead smelting
xii) e ® @S-t weE v @ stftes 29 U Serer W s steen w@nfire T 227 (1]
) T HEH ) RN A
|) W e 3) SEuE e

Which of the following company controls or owns production in more than
one country?

A) Local company B) Government company

C) National company D) Multinational company
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2)

3)

T T Rt g Rl -

Fill in the blanks -

i) vum WEEg g U HEET | & @1 ™= [1]
The First World War was mainly fought in the continent of :

i) G oRE e HEeAt 2 [1]
The art of beautiful writing 1s called

i) & U sfieTent T@a= T a4 1| [1]
Sri Lanka became an independent nation in .

iv) FuTEd g TeRTidt ure farehre Raie 2wt <t qer viferes &w, 3R ufa =afes
3 & IR W FEA 2 [1]
Human Development Report published by UNDP compares countries on the
basis of educational level, and per capita income.

V) Ut | gt o Su ferd T ag et @ Tl g 2 [1]
In the system goods are exchanged without the use of money.

vi) 24 feEeR 1986 ® WA @6E ° rferferm utia feren | [1]
The act was passed in the Indian Parliament on 24 December, 1986.

FAfTeTgTHS (T < I T 9153 A1 Tk Uferd | i) ¢
Very short answer type questions (Write the answer of the questions in one word
or in one line) :

i)

1860 o 391eh | fore 391 o TG  HRUT HRA | el hume o fama | gfg g8 oft? [1]

Which country’s civil war led to an increase in exports of raw cotton from
India in the 1860°s?

RIS yAfmioT ve foremm Sk Rt 3= fore I & S ST 22 [1]

By what other name is the International Bank for Reconstruction and
Development known?

SrgTE et A foRe o=t @ anferseRm feRa e [1]

Which machine was invented by Johannes Gutenberg?
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iv) eI UeE SiA-8 T | a2 - [1]

In which state the Deendayal port is located?
V) gl 9 W AEEE S gETe i gt @ 98 W hl W arell Hiv o1 A sasel  [1]

Mention the name of the farming which is practised in areas of high population
pressure.

vi) 3Tk TR g 3 wE & ° woet Wy e uftafda s fomn 32 |@ea | aarsu [1]

According to you, how irrigation has changed the cropping pattern of many
regions? Mention in brief.

vi) “owEw qar {29 | urn At @2 g 91 AW aarg | [1]
Name any two countries in which ‘Homogenous Society’ is found.

vii) @raTTes forarsm stftrepivma: fora o snenfia gran 22 [1]
Social division is mostly based on what?

iX) ‘ST & STotgg 1 A {oh Eeer o Toharm & ? [1]
Which organization led the ‘Bolivia Water War’?

X) nefiek &R ¥ ST TR |HE 27 [1]
What do you understand by primary sector?

Xi) THiOT 8 H STETSA S5k 3 Sifirenl o1 TRATUT S B Tehdl 2 ? I3 Uk 30T At [1]

How can unorganized sector workers be protected in rural areas? Give any one
example.

Xii) T YEEH JHOT TR o foeRmE o R Q1 el ht IgE i) [Va+va=1]

Mention any two goals of development of a landless rural labourer.
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)

6)

7)

8)

9)

10)

11)

8
e - 9
SECTION - B

TAERNICHS U9 — I 9. 04 8 16 % SR feARag (918 & : 50 912)
Short answer type questions - Write the answer from Q. No. 04 to 16 (Word limit: 50 words):

foram wfr i hiE 3 fviwaTd TarEa| [1+1=2]

Mention any two features of Treaty of Vienna.

AR T 9 i FgarEd | wegl it gt fore TR gt g3 2 [2]

How was the life of the workers affected by the abundance of labour in the market?

“Hhi-qgl | HIY g7 [2]

What is a “Slash and Burn” agriculture?

=1 <frei 6 Ty S fr fafa) 2]

Write a note on vulnerable species of wild life.

‘“Fu < A 2 R T SAUR STt AEEET Rl TUT 3R TEEE T W Hifu) [2]

“The need of the hour is to conserve and manage our water resources.” Explain.

T GREEA hl 31Ul TSeh TReEH hl 9l Hewl & a1 ShRuT fikau) [1+1=2]
Write two reasons of the growing importance of road transport vis-a-vis rail
transport.

TSR Tt o g A1 il hl feeerT S| 2]

Discuss any two functions of political party.

AT Aleha== ohl ITER, RFATR 1R 39 e 9Fd 21 =1 ? 98y § Jqed| 2]

You consider democracy to be accountable, responsive and legitimate government.
Briefly explain why?
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12)

13)

14)

15)

16)

17)

18)

19)

20)

9

SAiehd= i GHORWINE H % fordl 3o Sie & =g & farg wargall 2]

Mention any two points to be added to redefine democracy.

TR0 U TR Aol SEneEt st aReTEe hifu) [1+1=2]
Define renewable and non renewable resources.

e iR Fsht emrent ® fawg Sl [1+1=2]
Differentiate between public and private sector.

Sehl hl RUT Haelt fafafaEt < wfem samen fifs) [2]
Briefly explain the lending activities of banks.

URA W SUHIHT eI hl THTE S o fhegl Gt SRehl i GuiA k| [1+1=2]
Describe any two factors which made the consumer movement effective in India.

s - |
SECTION - C

el 30T T9 - 999 17 | 20 % I frfan (32 d@ | : 100 91=2) :

Long answer type questions - Write the answers of the questions 17 to 20
(Word limit : 100 words) :

Tl o UehIehUT <l W& AU hifg [3]

Briefly describe the unification of Italy.

Ife 3nueR! FETEA A T @ @ 3T hiF-hia @ HUHI S T=RT Sl ? [3]

If you have to do resource planning, which steps would you use?

ORa | ufgenen i aerifa | ufafafeea @ 6 farfa @ smom fomm =6 filkmn) [3]

Express your views on the status of representation of women in politics in India.

‘forewr =R fafirs 29Tt o ST 6 Uehiehtut § TR gl 81’ 39 A o 98 # 370 diF deh
it [1%3=3]
‘Foreign trade helps in the integration of the markets of different countries’. Give
your three arguments in favour of this statement.
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s - §
SECTION - D

Ferencres e - v A, 21 9 22 & W fefan (v @ 250 ois1) :

Essay type questions - Write the answer from Q. No. 21 to 22 (Word limit : 250 words):

21) wfera Tam e &1 AR Jui Sifs) [4]
Describe in detail the Civil Disobedience Movement.
Jgar/OR

T i forER AR Atk el sl AN I i oh TG o Wi ATed g HUE o udl
H 31U ek G| [4]

‘Ideas of nationalism also developed through a movement to revive Indian Folklore.’
Give your arguments in favor of the statement.

22) HoaTg W e ST U Helld SHERAT 3 TS ok Akl hi HIGTEtul SHEsd | [4]

Describing the meaning of Federalism and explain the methods of formation of
Federal system with examples.

tat/OR
WA | T Seen o fafae &R aawd g 3 wis et it gieat @i foa=em dial [4]

Explaining the different levels of Federal System in India, discuss the lists of power
distribution in them.
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23) uvA 1 S @ T wmiE § §i -

Write the answer in the given map :-

@ T wwa & T amtm @ Fefoiaa @ig sk @i @ sifhRa fite - [1+1+1+1=4]
AN) FoUd
) RN
w) Temgt
g) e
Mark the following Iron ore mines in the given outline map of India -
A) Kudremukh
B) Ratnagiri
C) Chitradurga
D) Goa
Jgar/OR
53 ™ vRa & T amtm ° FEfeRea oz sees @ i @t sifera Ao - [1+1+1+1=4]
) TR
7) e
) Serteen
7)

Mark the following Iron ore mines in the given outline map of India -
A) Ballari

B) Chikkamagaluru

C) Bailadila

D) Mayurbhanj

VOOV
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